__________________________________________________________________ 
Final Exam-A
EC 12-Spring 2023 Review Final
______________________________________________________________________________ 

Please answer all questions. Make sure you show any work you did to arrive at your answers.  All graphs must be completely labeled.  Good Luck and best wishes for a great summer.
1. In the 1970s, with inflation rising to levels that had never been experienced before in the U.S., both monetary and fiscal policy seemed to fail at managing the economy.  Robert Lucas would attribute this to a change in how workers and other agents in the economy responded to policy changes:
a. Illustrate how the labor market is affected by a monetary stimulus when:

i. Policy works – what assumption are we making about workers’ behavior

ii. Policy does not work.

b. Explain your answer in the Lucas Supply Function if that function is estimated to be:

Y = YLR + 100 * (P - Pexp)





For part i) above use P = 1.30 and Pexp = 1.00




For part ii), use P = 1.10 and Pexp = 1.10

c. Lucas admitted that there are 2 important exceptions to the RE model. What are they and explain why policy will work under these two circumstances.

2. Use the investment demand – money supply/money demand model developed in class to illustrate the impact of a monetary expansion on investment under:

a. Keynsian Assumptions

b. Assumptions that allow monetary policy to work

i. Explain the difference between the two money demand curves you used.  Make sure you note what type of money demand is emphasized.
ii. Why is your investment demand curve in a) different form the one in b)?

3. Use the aggregate demand/aggregate supply model developed in class to illustrate the short-run and (if appropriate) long-run impacts of the following:

a. A monetary stimulus under Rational Expectations assumptions

i. Given your answer, what is the appropriate policy for the Fed?
b. A fiscal stimulus under Keynsian assumptions 

c. A monetary stimulus under Monetarist assumptions

Part II)  In part C) above, show how your short- and long-run effects can be illustrated in a Phillips Curve.  Make sure you label your graph.

4. The following numbers represent observations on unemployment and inflation:





Inflation
Unemployment




  2%

    7%






  3%

    5%





  5%

    7%





  6%

    4%





  8%

    7%

a. Graph the above numbers in a well-drawn Phillips Curve.  What model (e.g. Keynsian) would explain these numbers the best?

b. Why does the economy keep returning to the 7% unemployment rate?


II.
Suppose instead that the numbers appear as below:




Inflation
Unemployment 





      3%


  5%





    10%


  7%





    13%


10%



What model are these numbers consistent with?  State an economic event for the 


U.S. economy that produced numbers such as these.

5. Explain how each of the following impact economic growth:
· Capital 



· Labor

· Technology

· Natural Resources

· Human Capital

Part II – The Solow Growth Model can be expressed as:


s Y/N = (d + n) K/N

Compare the capital intensity of a nation when:


-the mps = 0.05


-the mps = 0.10

To get your answer, set the rate of depreciation equal to 0.06 and the population growth = to 0.03. Also use a GDP = $20 million. 

Use the following to illustrate the impact of a rise in the savings rate on both capital intensity and the standard of living:
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